(D)processing time 2 3

4)
1 : = (assembly line balancing)
= JIT  kanban
2.
= (run out time)

3.

.
(make-to-stock) (make-to-order)
1) )
1 (Economic Production Quantity)
EPQ = 20S_p
H p-d
eg.C 10800 0.5
5 270 100
EPO \/2*10800*5 100
0.5 100-40

2. (run out time)
Ri: Ii / Di
R;: i
li: i
D;: i
Ri



() ()
A 2100 200 10.5 1500 1500 1
B 550 100 450 900 0.5
C 1475 150 9.8 1000 500 2
D 2850 300 9.5 500 1000 0.5
E 1500 200 75 800 800 1
F 1700 200 8.5 1200 800 15
0.5 1.5 3 35
A 2100 1.0 1800 9 1500 7.5 1400 7.0
B 950 9.5 850 8.5 700 7.0 650 6.5
C 1400 | 93 | 1250 | 83 | 1025 | 68 950
D 2700 9.0 2400 8 1950 2300 7.7
E 1400 2000 10 1700 8.5 1600 8.0
F 1600 8.0 1400 2300 115 2200 11.0
I1.
1.
2.
WIP
3.
Flow shop
Job shop
Parallel processing vs. sequential processing
Flow time
Makespan




Tardiness and lateness

4.
a. FCFS
e.g.
1 11 61
2 29 45
3 31 31
4 1 33
5 2 32
Solution:
1 11 61 0
2 40 45 0
3 71 31 40
4 72 33 39
5 73 32 42
268 121
268/5=53.6 121/5=24.2
b. Shortest processing time(SPT)
e.g.
Solution:
4 1 1 33 0
5 2 3 32 0
1 11 14 61 0
2 29 43 45 0
3 31 74 31 43
135 43
135/5=27 43/5=8.6
c. Earliest due date(EDD)
e.g.
Solution:
3 31 31 31 0
5 2 33 32 1
4 1 34 33 1
2 29 63 45 18
1 11 74 61 13
235 33




235/5=47

d. Critical ratio(CR)

I -

33/5=6.6

CR<1 CR=1 CR>1
e.g.
Solution:
=0
1 11 61 0.1803
2 29 45 0.644
3 31 31 1
4 1 33 0.0303
5 2 32 0.0625
3 31
=31
1 11 30 0.3367
2 29 14 2.0714
4 1 2 0.5
5 2 1 2
2 60
=60
1 11 1 11
4 1 -27 -1/27
5 2 -28 -2/28
4 5 0 4 5 SPT
4 5 1
3 31 31 31 0
2 29 60 45 15
4 1 61 33 28
5 2 63 32 31
1 11 74 61 13
289 87
289/5=57.8 87/5=17.4
=(SPT)

o T O

(maximum lateness) =(EDD)
(the number of tardy jobs) =>Moore

i, job[i]



i, jobli] ,

eg.
1 2 3 4 5 6
15 6 9 23 20 30
10 3 4 8 10 6
Solution:
Step 1.
2 3 1 5 4 6
6 9 15 20 23 30
3 4 10 10 8 6
3 7 17 27 35 41
Step 2.
2 3 5 4 6
6 9 20 23 30
3 4 8 6
3 7 17 31
Step 3.
2 3 4 6
6 9 23 30
3 4 8 6
3 7 15 21
Optimal sequence 2-3-4-6-1-5 The number of tardy jobsis 2.
d.. (precedence constraints) (maximum

tardiness) =lawler
T
min{t-due date}

eg.
1 2 3 4 5 6
3 6 9 7 11 7
2 3 4 3 2 1
- 1 2 - 4 4

Solution:

Step 1. 3,56 911,7 1=15

min{15-9 15-11 15-7} =min{6, 4, 8} 5
Step 2. 3,6 9,7 1=13
min{13-9 13-7} =min{ 4, 6} 3




Step 3. 2,6

min{9-6 9-7} =min{ 3, 2} 6
Step 4. 2,4
min{8-6 8-7} =min{ 2, 1} 4
Step 5. 2 2
Step 6. 1 1
1-2-4-6-3-5
1 2 2 3 0
2 3 5 6 0
4 3 8 7 1
6 1 9 7 2
3 4 13 9 4
5 2 15 11 4
4
6.
e.g.
1
I 4 1
J 1 4
I J 1 2
b. Johnson’srule
eg.
A
1 5 2
2 1 6
3 9 7
4 3 8
5 10 4
A B

c. Revised Johnson’srule

eg. 8 2
1 2
1 1 14 0
2 1=2 15 7
3 2=1 7 14
4 2 0 10




1=2

24

11

1=2

28

=1

16

0N OOl

2=1

26

e.g.

2000

2000

2000

3000

3000

OO WIN|F

3000

(

)

15

1.25

0.75

05

0.25

(@)
(b)

9000

9000

9000

9000

6500

5250

N OO BAIWIN|F

5000

200
200

300
250

300
275
-75

200
175
-100

200
200

300
250

300
275
-75

200
175
-100




eg. 24
4
1 12:00 A.M .~4:00A.M. 90
2 4:00 A.M .~8:00A.M. 215
3 8:00 A.M.~12:00P.M. 250
4 12:00 P.M .~4:00P.M. 65
5 4:00 P.M .~8:00P.M. 300
6 8:00 P.M .~12:00A.M. 125
Xi(i=1,2,34,5,6) i
Minimize Z = X1+ X+ X3+ X4+ X5+ X¢g
X1t X290
X1+Xo >215
Xot+X3 >250
X3tXy4 >65
X4+ X5 >300
XstXe 2125

Xl Xz X3 X4 X5 X620
X1=90 X,=185 X3=65
X4=0 X5:300 Xe=



eg.




C. (Clark-Wright )
Sj = tiottg-tij: i j
toi: i
toj: j
tij: i j
e.g. Mike
80
8 Mike
1 46
2 55
3 33
4 30
5 24
6 75
7 30
0 1 2 3 4 5 6
0
1 20
2 57 51
3 51 10 50
4 50 55 20 50
5 10 25 30 11 50
6 15 30 10 60 60 20
7 90 53 a7 38 10 90 12
1 2 3 4 5 6 7
1
2 26
3 61 58
4 15 87 51
5 5 37 50 10
6 5 62 6 5 5
7 57 100 {103 |130 |10 93

10

:Mike



Solution:

0-4-7-0 150
0-3-1-0 81
0-2-5-0 97
0-6-0 30
358
8:20~ | 9:20~ |10:20~|11:15~|12:10~| 13:20~| 14:15~| 15:10~| 16:05~
9:10 | 10:10 | 11:10 | 12:05 | 13:00 | 14:10 | 15:05 | 16:00 | 16:55
100
1 101 102 201 210 212 410
105
2 2a 2b 210
110
340 250 3 220
115
440 230 310 360
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